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Let R be the region in the plane enclosed by ¥ = x°, y = 0,and x = 1. 1
Find the volume of the solid formed by rotating R about the axis ¥ = 2,

A) V=tf:(y%-l)dy.
8) V=n, (1 -(2- y:)!) dy. N
6 V= ll.'j: ((y: + 2)1 - l)dy.

0) V=nl ((z - y:)1
_ ©) None of the above.

- l)dy.

=y
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Soludon

Given  cuaves %}* » (2,32)
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A solid is formed with a base that is a triangle with vertices at

(0.0), (3.0) and (0, 1). Cross sections of this solid, perpendicular
to the x —axis are squares. Find the volume of the solid.

AN A
B) 1
C) 1
D) -

E) None of the above.
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since, the cross — sections, cut

perpendicular to x — axis are s

Volume of the solid can be d
square base slides s and small

V= AAx
V=s?2Ax =dv =s? dx

V=[’s?dx
N = fOS (1 — %)gdx

V=[i(1-2+%) dx
273

X2 X
-2+
V=3-3+1

V =1 cubic units
Option — C is the correc:
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Assume 3., a, isan infinite series with partial sums giver
n=

What is as?

1
A) T To
!
B) 10
C) e
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Find the sum of the series:

6
"Z;n(n - 3)

or conclude that it diverges.
A) 0.
B) -

=

Q)
D)
E)

I - -
< ﬂ'!;*lu"‘l
- - .
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Marked out of 2

¥ Flag question

Time left 0:33:40

Let @ > 1. Find the area of the region bounded by

y=42(x—a)and y=x-a.

A)
B)
c)
D)
E)

SIS RS e
mo" . =
.

» ol

Clear my choice

Question 8

Not yet answered
Marked out of 2

¥ Flag question

n+1
lim (
n—oo n
A) e

-
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a)

<oy T —
225 Y= Jamew) J §y=2x-4

33':"2(1"” ,Q 5:.(1-‘1;‘

{ind iakysehon pombs
(2-49) % = 2(x~a)

{x-q] =0 o = 4q
K-8 = K= a+1
Step2
b)
{ind inkysechon pombs
(x-9) % = 2(x~a)
(x-9) =o x =4q
% -0 = L = q+2i

Nu O ¥= Il[a._;-q}

ﬂ:}j dx dy \

i=q a-:.k-ﬂ

h = JMZ(JET:TL.U.— (u-qj)dv.]

q
A= 5 {n-qjg’l‘ N {xyq}-l}“'”-
3,-';1 q . | q

A= a.f:,(o?}:"fa.._ 2
3 L
=71 X285 — 2 = MR _2
3 3
= 8 - 2 = 3 -6 _ 9
cJ s T o

Scanned with CamScanner



2%t .= B OE® /Y

WUESLI o

Not yet answered
Marked out of 2

\” Flag question

3
The value(s) of p for which the series ), - is

n=1(14n¥)-»
convergent using the integral test:

A) p=1.

B) p>1.

0 p<1

D) p<-1.

E) p=-1. <@
A)

e« B)

C)
D)

Clear my choice

Question 2
Not yet answered

Marked out of 3

¥ Flag question

1l O >
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Question 2

Not yet answered

Marked out of 3

V" Flag question

Given the following series
n n (—-9N"
L Zea(VZ-1)" IIR.h
" —2n\ 5"
1L X0 ninn IV. X (m)

A) Iand Il diverge.
B) III converges conditionally.
C) 1III and IV converge absolutely,

D) IV converges conditionally.
E) Il diverges.

Clear my choice

Next page

Previous activity

— Annmniinramaoante
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g Wl mrarathary ¥ =

Time left 0:43:38 |

Not yet answered
Marked out of 2

V" Flag question

Using the limit comparison test the appropriate b, that is used

to make the series 3 li:-:—'l converges is:

a) b
B) b, =
o b
p) b,=nt,
B} b,=n7.

Clear my choice

Question 6

Not yet answered
Marked out of 3

V" Flag guestion .
\

Scanned with CamScanner



Limi} Qomfarisom T-Eit."‘ . o ’
0 onsidoy Mhe fwo series ﬂ'i:!“ﬂ ool % n -

wheve eash  Sevies Conkains only Positive tems

= im0,
Suppose that p= Lim 2
5 b Pis Finde oo Pﬂﬁi{r’ﬂe,}ﬂn eifhor both servies Cmvergeoy
both Seves diverge.

: omd f‘thn Converges ﬁm%anmmm as welY .
“} % Jee nzj ’ L=

.. < = o diverges as weld .
iy W §=7 ong =0 djverges Haen E:r n

Step2
(rjven Wat, $ li_;.'%l W e h?,,{:}
M=
sl . .
L-atl' h“:ﬂ r = Jn’l':l‘. .
=)
i ) -
NOW dn  In(n)
b‘ﬂ -— ‘?— .‘n-lil:
In(m)
nt
g (7 bow)
“X \ by L' Hospitd vile )
= Lim 43
Now
— o0
=] the sevies 2 %—:? aoverges

By Limip compeism test

. "Eﬂus @ FS Cﬂﬂef} Whm

Scanned with CamScanner



| Time left 0:19:58 |

Clear my choice

Question ]4

Not yet answered

Marked out of 2

¥ Flag question

g\ 1-2n
The sum of the series )= , (E) is:

A) 1.
B) 2.
Q0 -

Clear my choice
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Stepl
a)

The given series is:

which can be rewritten as:

e (3)(3)
iye @)™
_ Ly g

- % anzl 4"

Step2
b)

Now,

1 Z-’x-‘ 4"

2 ~~n=1" 15 a geometric series with a
common ratio 7l = 4/ =4 > 1,
Hence, the given series diverges.

So, option (E) is the correct option.
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